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O0. n000000 ADODO,D0000 Tq:R*—-R"0O
Ta(z) = Az, (x € R")

0000. 000 A, A,..., s e RO 7, 0000000000000000,
Wi, Wh,, -, W, 00000000000000000000.

1) ADO0DDOOOOU0ODOO, 000000000 0OO0O00O0. DoooOd
goad
Rn:W)\IEBW)\QEB"‘@WAk

gbobobgob.oooobob T, 000 rRrOooogoboboboonbg
gogo.

O0,RO00000 f:R—-ROO00,00 Tra:R*—-R*O00000000O:

02eR"000000000000 z=a1 4@+ +a% (€ Wy,) 00D,
O Tra(x)=f(AM)zr+ fA)ze + -+ f(Ap)z, OOD.

2) T;, 0000000000000.
2 1 1
3) ft)=e'DA=|1 2 1| 000,0000 Ty4:R*—>R"00000
11 2
Dooooo0oooooo.

OO0.000000 fOob0OO

i) 00000000000 ooooo.
i) 0000000000000, 0000000000000000.

gboboboooobb.bobo,ggbobbbooobobboooobbobooaon
gbbobooodobobobooaobbod.

1) flz,y,2) =222 + 2xy + 22wz + 2y% — 2/2yz + 22

2) f(z,y,2) = 2%+ 4oy — 2wz + y? + 6yz + 22

3) flz,y,z,w) =a® +day —2xz+9y> +6yz+ 22 0000 wO0ODOO0OOO0
ogoooogod.



00. on) = {X € M,(R)| X +'X =0} 0D00. X,Y €o(n) 0000 (X,Y) =
tr(*X-Y)0D0DDO.
1) (-,-)0o(n)0000D0DDOODOD.
2) 000 o(r) 000000000000 DO0DO00000000O000DO
ooooooo.
000O0dimo(n) =" 0ooo.

00. K=ROOOO K=COOO. X e M,(K)OOOO, expX 0000
exp(X)00000 M,(K)OOO

1 1
eXpX:In+X+§X2+§X3+...+
ii
k!
k=0

o00o00o0.0000=1,X°=7,0000.000000000000000
gbooo,gggbobdoaogn.

1) teROODOOOODO,Y € My(K)OOOOOX =¢Y 0000 exp(tY) O
ooo.

&lg‘
Wlp—t

i exp (tY) i

O000D0,00 exp(tY) 000O00DO0D0O000000DO0 %exp(tY)z
Y exp(tY) = (exp(tY))Y D0O0DOO0DOD. D00 teCOODOOO
goooooo.o

2) PeGL(n; K)OOO, exp(P7IXP)=P lexpX)POOODODOODO.

3) 0000 XOOO00O,exptX00000.

0 1 0
3-i)X:((1) D 341))(:(? ;) i) X=[0 0 1
0 0 0
4) X,)Y € Mp,(K)O XY =YX0OO0OOOO exp(X+Y) = expXexpY =
expYexpX UUOODOOOOOOD. DODOOOO0OOODOODOOOO,O00
gooooooooboooo.
5) X € My(K) 00O, detexpX =e"X 000000000X 000000
OO0 Jordan OO O O0OOODOODOOOOOODO.



6) XeM,(K)OOD,expXDOOODODODDOOO,000000 exp(—X) O
0oo0ooooooo.

7) o(n) ={XeM,R)|X+!'X=0}000.0nn 000000000000
0. Xcon)DO,expX € O(n) 00000000, OD0n=2000,
expXODODODOOOO.

8) uin)={X e M,(C)|X+'X=0}000.u(n)000000000000O
0000. Xecun)DO,expX €¢Un)DDODOOOODO.

9) X € M,(K)OO, P=exp(tX)0OO. OO0 te ROODO. OO0,
f:M,(K)— M,(K)D fY)=PYP'0000. f0t000000OO,
f(YYODODOD ft,Y)OOOOooooo,

0
— Y =XY -YX
atf(t7 ) =0

O00000000.0000,00000 [X,Y]OOOO adxYOODO.



